EARAZROREIERT — 2 N—XBISY —F 2012518158 (H) 1EREAS5H

el S %3 REEF [B5E] Eg (w8 | mEmml - |5 5 wm
[x&<£] 1 % :5,000,000 @ ~ 23 :2,000,000 ™ . 3% :1,300,000 W ~ 43 :750,000 . 5 7 :500,000 M
mEBR Mk HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
NZRIvH— 43 ‘;‘61)3@1 1:(5_5).6 11-10-9-5 | 36.7 | 86.7 | 10 | 510 /‘T’\ﬁﬂ;ﬁ%@}a
RO—TXA AL B INR YT 9| Fanis
P = L S 3 %ﬁ%féi 1(;15/52.>7 4-4-3-3 | 37.4| 85.7 | 3 506 %E;T;)ﬁi; —(fau
R:TLLFFE2F 4 BATLU—OTLR 2 | EAT T4
2T ESAAL # o3 gg_ﬂgél 1:(526‘3.0 7-7-6-3 |37.4| 83.0 | 4 | 456 ?tiﬁﬁi) (==®)
R:TUREE BiFEY 2| gipag
RZXAHIIS # 3 | BEHnS (11516/42) 4-4-6-7 |37.6| 811 | 1 | 452 ?Eiﬁ (FER)
LAXATA BALLAXA O | meris
7+ baqd # 3 5‘%?3?— 1(/756@2 2-2-2-2 |38.2| 787 | 7 | 472 2#%;%%)
RitrsnJod BiL—4rR—4F> D R
SEILZA D 43 ;F'S*gﬁz 1:(56).7 13-14-13-8 | 37.6 | 76.6 | 11 | 482 ﬁii};gm E=)
: 3 _ e
R:vAZINTYT B4 aXE (-8) #HE MR
NyE—ZX k=1 — # 3 %?ﬁfl‘ (11516/‘?) 16-16-15-15| 37.2 | 74.9 | 9 | 532 ?\ﬁ%%i)
R:d—IK7Ya—)b B:LAY—I>TLZR (+26) AW 78RS
o (E— - il ¥ 2
Y JELLY b # 3 gél%w 24 1(.3%1 1-1-1-1 | 39.2| 69.5 | 6 | 504 ;/Al\é@z (®ER)
RigZ/F¥LLY N BT RI4—Y A e P S
. D . 1011 =
a9 IRy —L4 # 3 fﬁfﬁiﬁ (11.517/.23) 12-12-11-12| 38.2 | 71.4 | 14 (432) EI(E)IEE*%?;
RigyTELRSF— BTy Py IR EnLTe
1017 |14| V7T — I "3 | ERIEX 1(:15/72.>4 9-10-11-13 | 38.4 | 69.6 | 8 | 500 %Eg%;ff)
Q%L IALO— BEANSTIELY b ) | ") #AI-KL—va Ty
e e e = R . g-8- Ak ETE
11| T T EN— #o3 | ZEEE 1(.15/72.>5 7-8-8-8 |38.7|67.2 | 2 :?s) &(;};SE.T%E(E?{)
L:d=IWR7Ua—=lb B:HII5X M= g OE
o e E . YRR *?s,_
1l vams2ave— # 3 :E’Jét% + 1(75{:? 15-14-15-13| 38.2 | 68.8 | 12 &2) Km%gﬁi)
RFATATH— BTav/NRFT =4S
= # 3 | =R 1:57.8 9-8-9-8 |39.0| 63.5 | 13 | 474 |ETEEE (ER)
1359 |7 TTAhtAYaT 6.0 (1172 (2 | ELER
RFAILYLTF— BFAILTT—) 1 ILBSEERS
1413 HERST— 4 3 gg#ﬁ@ia’r 1:<5§>'1 13-13-14-16( 39.7 | 53.4 | 16 | 450 gg%g (FH)
Qyrh—r BiLArK-TzO- 02 | 2= s
155110| 7> 7L RI— 1 H 3 gﬁé%?ﬁ— 1(:35/51.)2 2-3-3-5 |40.9| 54.4 | 5 | 506 ;ii{; (&)
LN=VI514 B IVTFX (-6) ZHA &5
. o KEEREA 5 —f—F— =]
16/8|16| N7 >¥avraE2Z # 3 | AmER (20 4-6-5-8 | 41.3| 49.7 | 15 ?5? SRR
L:a4=/xLLy b B:2UDRETSaY rooavEERRSH T 30K
@ 1L
Ery 51.0-37.7

NE 24 L | 12.7-11.9-12.8-13.4-13.8-13.3-12.9-12.4-12 .4

@ 11— —&EBIRfL

12—4— (¥7,10,15) (4,6,16) (2,11) (9,14)3,12(5,13)1,8
20—F— (¥7,15)10(4,6)16,2(9,11) (3,14)12,13(1,5)-8
30—4— (x7,15)-(4,10)16(2,6)11(3,9) (12,14)5,13(1,8)
40—F— (x7,15) (2,4) (3,10)6(5,9,16,11)12(1,14)8,13
[ /N
BB 3 4,630 | | 71 K 3-4 8,120 | | # = 2-2 29,530M | | 3E& 2-3-4 85,370
7 B 3 2,520 2-3 8,480 | | B &= 3-4 35,480M | | 3EE 3-4-2 759,450
4 270M 2-4 1,110 | | B ¥ 3-4 105, 140
2 370M

ABICOVWTRDTEEERROODE. TR LIV,



